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Parameter:

Y & Name
llluminant P40
Y,,=100 Y\=0

of maximum (m) C, _100
chromatic value diagram @,, B,)
lllumin. P40, Y, ‘lOQ Y\ =0 59(3“

Name Range X, Y, x“
573_775 70.25 41.25 0 47 620 %0, 3694 suo 493
498_77590.6 95.35 418 0.4765 0.5014 576 468
498_573 20,55 54.29 413 0.2602 0.6873 540 540c
380_573 30.88 58.94 64.64 0.1999 0.3815 493 600
380_498 10.52 4.84 60.63 0.1384 0.0637 468 576
573_498 B0.57 459 60.68 0.4305 0.2452 540¢540
380_775 10098000 64.68 0.3799 0.3764 100%
38077501 01 006 03798 0.3763 0%
380_775 18.16 18.0 1164 03799 0.3764 18%
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